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	0,5 + 0,5 = 1

1,5 + 1,5 = 3

2,5 + 2,5 = 5
	4 + 0,5 = 4,5

7 + 0,03 = 7,03

8,007 + 2 = 10,007
	5,5 + 4,5 = 10

8,2 + 1,8 = 10

3,7 + 6,3 = 10


1./ Pose en colonnes et calcule :

	
	
	

	8,007 + 0,61 = 8,617
	94,2 + 206,08 = 300,28
	643,048 + 364,99 = 1 008,038

	8, 0 0 7

+   0, 6 1 0

8, 6 1 7
	
	210 6, 0 8

+    9 4, 2 0

3 0 0, 2 8
	
	16 4 3,10 4 8

+   3 6 4, 9 9 0

1 0 0 8, 0 3 8
	


	
	
	

	2 076 + 207,6 = 2 283,6
	375,029 + 64,98 = 440,009
	8 495,1 + 607,598 = 9 102,698

	2 017 6, 0

+    2 0 7, 6

2 2 8 3, 6

	
	131715,10 2 9

+    6 4, 9 8 0

4 4 0, 0 0 9
	
	18 4 9 5, 1 0 0

+     6 0 7, 5 9 8

9 1 0 2, 6 9 8
	


	
	
	

	8,5 + 35 + 1,59 = 45,09
	762,2 + 57,16 + 608 =1 427,36
	0,048 + 1 + 0,76 = 1,808

	1315, 0 0

+     8, 5 0 

+     1, 5 9 

4 5, 0 9

	
	1716 2, 2 0

+      5 7, 1 6

+   6 0 8, 0 0

1 4 2 7, 3 6
	
	0,10 4 8

+   1, 0 0 0

+   0, 7 6 0

1, 8 0 8
	


2./ Complète les additions suivantes (N’oublie pas les retenues !…):

	6 ,14 3 1

+  9 , 4 8 2
1 5 , 9.1 3
	
	31616 ,17 3 

+  4 2 8 , 2 7

7 9 5 , 0 0
	
	15 214 ,17 4 

+  5 9 0 , 3 9

1 1 1 5 ,.1 3
	


	1413 ,19 6
+  5 8 , 8 4

1 0 2 , 8 0


	
	1119 , 9 0

+  7 5 , 3 2

9 5 , 2 2
	
	1713 ,1719 9
+  1 8 , 6 8 1

9 2 , 4 8 0
	


	1411 ,27 9
+  6 7 , 0 2

+  4 1 , 9 9

1 5 0 , 8 0


	
	2814 ,1715 0
+   6 7 , 1 3 2

+   4 8 , 5 9 8

2 0 0 , 4 8 0
	
	711 ,10 8

+  1 0 , 6 2

+  4 3 , 9 5
1 2 5 , 6 5
	


